
-1-
US_CA



-2-



-3-



-4-

EXPLOSION FIGURE

1

2

3
56

7

8
9

14

5

10

14

13

11

11
12

4



-5-

1 01 2 01

4 01

7 01

10 01

3 01

5 02 6 02

8 01 9 01

11 02 12 01

13 01 14 02



-6-

A 30
Ø7*29

+1 (spare)

B 24
6*30Ø

+1 (spare)

C 30
15*    01Ø

+1 (spare)

D 04

P 08
M3.5*30

+1 (spare)

Ø5*20
+1 (spare)

 I 44
3.5*14M

+2 (spare)

G 16
M4*16

+1 (spare)

S 04
1.5”

L 02
1.5”

T 02
160L

U 04
4*18M

H 10
L60*30*1

W 02
6*20M

O 02
48*36*14

R 02
6*20M

Y 02

M3*14

X 24
M3.5*12
+2 (spare)



-7-

01

02

Ø
A 22

7*29

Ø
B 24

6*30

1

2

3

C 04
Φ15*10

5

4

C

C

C
5

1

4



-8-

03

04

C

C
C

5

C 04
Φ15*10

C

C

C 14
Φ15*10

3

2



-9-

05

06

7

GS

S 04
1.5”

G 16
M4*16

H 04
L60*30*1

X 24
3.5*12M

6 turn over 180

X

H



-10-

07

08

6

O 02
48*36*14

L 02
1.5”

 I 08
3.5*14M

W 02
6*20M

D 04
Ø5*20

8

 I 04
3.5*14M

Y 02

T 02
160L

U 04
4*18M

T

U

Y

D

O

I

W
L

7

M3*14



09

10

-11-

9

14

10

P

P 08
M3.5*30

R 02
6*20M

11

11
12

A

A
I

Y

H

Ø
A 08

7*29

H 06
L60*30*1

 I 36
3.5*14M

Y 02 14

13

R

M3*14



11C 08
Φ15*10

-12-

Done

14

14
13

C

C




